
jflif{s ljsf; sfo{qmd 

cf=j= )&$÷)&% 

j8f g+ ( 

qm=;= of]hgf tyf sfo{qmdsf] ljj/)f /sd s}lkmot 

1 s[ifL lj!$f/f df^f] k/LIf)f tyf cu'jf s[ifsnfO{ k|f]T;fxg 200000.00   

2 :jf:Yo tkm{ 150000.00   

3 :sfp^ sfo{qmd 150000.00   

4 ;ftsGof df=lj ef}lts lgdf{)f 500000.00   

5 ltgsGof cf=lj= afnd}qL sIff Joj:yfkg 100000.00   

6 &'nLwf/f vfg]kfgL kw]/f dfem^Ff]n  100000.00   

7 cw]/Lvf]]nf ;Gw]/L v*\sfyf]s vfg]kfgL 300000.00   

8 ;Nn]vf]nf vfg]kfgL ;fljs 1,3 / 4 400000.00   

9 hD?D^L vfg]kfgL u}x|LufpF  300000.00   

10 xfQL('Ëf d'xfg ul/ *f*Ff^f]n kflv|g^f]n k'R%f/^f]]n vfg]kfgL rf+v' 500000.00   

11 d]nDrL Hofld/] u'kmf cf]v/]gL ;*s uf\]Ndfyfg v)*sf] cf/l;l; (nfg 2900000.00   

12 v*\sfyf]s *ANofË gfu]*f*f ;*s 500000.00   

13 yfkfufp ;ftsGof ltgsGof df]=af 200000.00   

14 gjnk'/ v*\sfyf]s ;'gvfgL nfu{]r] ;*s 150000.00   

15 lhtk'/]sf] df]* x'b}+ ;ftsGof df=lj= bf]af ]̂ df]=af= 500000.00   

16 u'kmf ljB'lts/)f nfOg lj:tf/ ljB'tkf]n vl/b 800000.00   

17 hgtf df=lj #]/faf/ 200000.00   

hDdf 7950000.00   
 


